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Question Number : 1 Question Id : 3354725731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

gﬁw%ch 01}; of the following districts of Madhya Pradesh is opium cultivated? | 73 024 & F1 & Tt # anbim o

Options:
1. % Mandsaur | 2

2 % Shivpuri | TdEger
3. *® Sagar | 9T
4 ® Raisen | oA

Question Number : 2 Question Id : 3354725732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Kakrapar Atomic Power Station is located in_____ | TTECAT TCHT] ST g ERTC

Options:
1. ¥ Madhya Pradesh | Fea 0

2. % Tarmil Madu | 4 fIFrIFlg

3. ® Uttarakhand | FT09Es
4. ¥ Gujarat | =0T

Question Number : 3 Question Id : 3354725733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Coolie' is the creation of a well-known Indian writer. Who is he? | ‘il T Tiehg 9 =T o1@eF & w1 31 F B 57

Options:

1. ¢ Mulk Raj Anand | Gew 19 AHg
= % Raja Rao | (=T

3. ® RK. Naravan | & TR0

4, % Anita Desai [ SF@TZATE

Question Number : 4 Question Id : 3354725734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who was the first Deputy Prime Minister of India? | YT % B0 30 Te-HAT & 47

Options:

1. % Sardar Vallabhbhai Patel | TN geed 915 0o
2. % GL Nanda | Stgaar

% % GE. Pant | SET T

4. % Lal Bahadur Shastri | @ sgge JTEit

Question Number : 5 Question Id : 3354725735 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Indian Army Day’ is celebratedon ______________ of every year. | "R 14 947 Temr, waoar ad
AT AT 21

Options:

1. % 15th January | 15 =il
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2. % 11th January | 11 =it
Z. % 13th January | 13 =it
4, % 22nd January [ 22 Far

Question Number : 6 Question Id : 3354725736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Who was appeinted the second-ever wornan Defense Minister of India in September 20177 | Rgeat 2017 # 9T
T ECT HIgAT T AT Tl T TeparT T e

Options:

1. ® Sushrmia Swaraj | qT Far

2 % Mirmala Sitharaman | e Samea
Z. % Umna Bharti | AT WRAT

4. % MNajma Heptullah | ﬂ?mw

Question Number : 7 Question Id : 3354725737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which major title was won by PV, Sindhu in September 20177 | Wdaw 2017 # o & Hyf = 19 a7 uga g Siar
oar

Options:

1. % Korean Open | ®EmE o

2. % Japan Cpen | S 2709

% % Malaysian Open | AcTEET 0T

4. % [ndonesian Open | TG 0=

Question Number : 8 Question Id : 3354725738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is the first woman judge of Supreme Court of India? | YRT & Az ~ATIAT 51 FIH AlgAT AT #1957

Options:

1. # Justice Leila Seth | ATead # AT S5

2. % Tustice Anna Chandy | FTEd IO 2T

= ¥ Justice Fathima M. Beevi | FTeed BiaHT UA, =T

4. % Justice Mary Joseph | Fieed ALl AEE

Question Number : 9 Question Id : 3354725739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is the present Chairman of Central Board of Film Certification? | #4 < e THH 12 & HIgT STeTy & 57

Options:
1. % Prasoon Joshi | WG =i
2 ® Gajendra Chauhan | THig g

% % Pahlaj Nihlani | 9ger Wge=T
4, % Sharmila Tagore | AHAT 21

Question Number : 10 Question Id : 3354725740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Which was the first English newspaper published in India? | a7 ® W8T 514 167 T5aAT SIS GHET OF 1 a7 477
Options:

1. % Benpgal Gazette | ST T

= % The Statesman | g @odid

=. % The Hindu | g5

4. % The Bombay Herald | a7/ 52lvs

Question Number : 11 Question Id : 3354725741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
According to India State of Forest Feport - 2015, which state has the highest forest cover in the courntry? |

URT 7= o WAE-2015 & R 30 & [0 T3 § Tei 2118 99 IegTed a7
Options:

1. ¥ Madhya Pradesh | Hea 0

2. % andhra Pradesh | SITer 084

% % MNagaland | ATAZ

4 % arunachal Pradesh | SR A

Question Number : 12 Question Id : 3354725742 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Madhya Pradesh, manganese is found in the districts of _______ | weE e d, #r

Options:

1. ¥ Morena and Rewa | T s T&m

2. ¥ Ehalaghat and Chhindwara | 9ATER 1 HgareT
=. ® Durg and Bastar | g7 o ga¥

4. % Ujjain and Kalumar | 354 o FIgAR

Question Number : 13 Question Id : 3354725743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Mohaj Mata Mandir in Shivapuri is at_____ .| AR OTaT AT ey H e a1
Options:

1. % Terahi | 95T

2. % Chanderi | ZI2e

3. % Mahua | Hgel

4 % Bhind | f=

Question Number : 14 Question Id : 3354725744 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the Gola Math situated in Satna district? | @347 Fa | AT A8 Fg57 =97 27

Options:

1. % Maihar | #5¢
2. % Nagod | AmiE
= ¥ Paran | ™A

4 % Shorpura | STRQET
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Question Number : 15 Question Id : 3354725745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& famous temple on the banks of Shivna river in Mandsaur is

______ - T o TdemT 98T % T g witeg oiex

Options:

1. ¢ Pashupatinath | qe@i=rer
2 % Vishnu Varaha | Tewy ammer
2. % Durga Lakshrmi | g7 sigdt
4 % Shankar Parvati | e wTddT

Question Number : 16 Question Id : 3354725746 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The farnous Teli ki Sarai of Harda district is situated in .| BT Fetet T uieeg Jelt 9 T

Options:

1. % Handia | gi&am
2. % Chanderi | Z2er
3. ¥ Nemawar | 4ATE%
4, % Seoni | TEEAT

Question Number : 17 Question Id : 3354725747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which city in Madhya Pradesh is the renowned singer Kumar Gandharva associated with? | Te@ Hear & T a5
o TR T FHIE e el e 57

Options:

1. ® Ujjain | F=

2. % Sagar | 9

3. ¥ Dewas | 29

4 % Dhar | 9%

Question Number : 18 Question Id : 3354725748 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In terms of population, the largest city of Madhya Pradesh is .| T o T OF Hed N9l & Hed 92T 57

Options:

1. ¥ Indore | 22

2. % Gumlior | T
% % Ehopal | 4T

4. % Jabalpur | S&EAYL

Question Number : 19 Question Id : 3354725749 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The state that ranl%s nurmber one in population of Special Tribes is | =T ST & Fewear # 9a¢ 0F 0=
L[} e

Options:
1. ®¥ Rajasthan | T
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2. % Chhattisgarh | #oETE
=, ¥ Madhvya Pradesh | T 0
4. % Uttarakhand | FEs

Question Number : 20 Question Id : 3354725750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Earvmani has the tallest statue of | FEaETH

T Hae Fa T Wi AT Bl
Options:

1. ¥ Lord Adinath | AT Samr

2. % Lord Shiva | AT T

2. * Lord Hanuman | A9 5gAE

4. % Lord Mahawvir | 9Ta AZTET

General Maths and General Aptitude

Section Id : 335472149

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472149
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354725751 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The average age of a husband and his wife when they married & years ago was 23 years. MNow the average age
of the husband, wife and his child who was born during this period is 19. What is the age of the child? | 5

@ﬁg@ﬁﬂmwﬁaﬂrﬁfﬁaﬂwmﬁ o o ore Oie, Ul S 5 aratel § H oy & elET ST 19 7Y 31w @ s
T &

Options:
1.91
2. w2
3% 3
4 % 4

Question Number : 22 Question Id : 3354725752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& bag Contains 4 red, & black and & white balls. If a ball is drawn from the bag, then what is the pmbabilitg.r
that it is black? [ UF S0 # 4 @A, 5 F76 F97 € ik ¥ 81 afe Sor & g N T SaT &, 7 o wiiderar & fF o @rer 7

Options:
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=
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W =

& |+

[

4 %15

Question Number : 23 Question Id : 3354725753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ify15625 = 125, then find the value ofy1.5625+y156.25. / Af¢y/15625 = 125, dd

V1.5625+/156.25 &l ATH Ad |
Options:
1.¥ 1375
= % 1375
3 % 1375
4, % 1375

Question Number : 24 Question Id : 3354725754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the number 8E745 is divisible 45, then Bis_____ | AT EEIT 6ET45, 45 § oW §, 91E =

Options:
1. %38
2 %7
3.5
4 % g

Question Number : 25 Question Id : 3354725755 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
If 4x2+ 12x + 100 = 0. then the value of (2x +31is: / IATE 4x2+ 12x + 100 =099 (2x +3)P @&T
AT

Options:

1. % 100

2. % g1

3. ¥ -91

4. % -100
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Question Number : 26 Question Id : 3354725756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
(33)2 & =314

Options:

4
R

2 % 3

3 % 3

4% ¥

Question Number : 27 Question Id : 3354725757 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

(5Y _(2Y _»

k?j k?j

Options:

—a |

1. ¥

~1 | 4=

—d | ka2

| =

Question Number : 28 Question Id : 3354725758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the average. | Hd FF #

27,69, 15,58, 21
Options:
1. % 37
= ¥ 3B
3. % 39
4. % 40
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Question Number : 29 Question Id : 3354725759 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find a rational number whose decimal representation is 2.34. | % ORHT TET A9 &Y, 0@ Safed fFeum 2.34 21

Options:

1. % 232199
2. % 26711
2% 2350101
4. % 117]50

Question Number : 30 Question Id : 3354725760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In an exam P secures 8% marks and O secures 105 I'J;lElI‘kS more than P If the maximum mAarks were 700,
then what is the percentage of Q7 | Uw TiyT # P S8% W a7 el g &7 Q, P ¥ 105 37w SfTae affd FaT 51 41
STEFTH 3 700 T, 31 Q T WdaT 747 57

Options:

1. % 5%
2. % 5B%
3. ¥ T3%
4 % 7ol

Question Number : 31 Question Id : 3354725761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& lady had only 50 paise and REs. 1 coins in her purse. The total number of coins was 120 and the total
amourt was Rs. 100. The nurnber of Rs. 1 coinsis___. | U® o T FEeh ug H e SO 39 ST 1 wnd o gy an
ol g F HEAT 120 § T F a=end 100 w0 o 79 1 w0 W =T 2l

Options:
1. % B0
2. % 70
3. ¥ B0

4. % 90

Question Number : 32 Question Id : 3354725762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the odd cne. | &9 J13 F4

Options:

1. ® Rectangle | smad

2. ¥ Triangle | S

Z. % Parallelograrm | 99 g

4 % Rhornbus | AT

Question Number : 33 Question Id : 3354725763 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Zonsider the string WARGHESEWVARGHESEVARGHESE WARGHESE, where WARGHESE is repeated 20 tirmes.
Stage 1 rermncwes all even position letters in the string and in the successive stages, the everl position letters are
remmoved till a single letter is left. What is the letter? | VARGHESEVARGHESEV ARGHESE VARGHESE wv TR
¢, g1 VARGHESE w1 TRTe 20 = 33 1 =R0 UF | T T A T W SR W gerar AT 5 o e S et |
mmﬁaﬁwﬁaﬁﬁwmw%’ Wwﬁﬁwaﬂ\%narm A9 A1 ¥ S 9% STEY T4 57

Options:
1. %5
2. %R
VY
4 % H

Question Number : 34 Question Id : 3354725764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Mohan spends 40% of his income on rent, 20% on food, 10% on entertainment and saves the rest. Find his

savin%rsgas a percentage of his expenditure. | HIET 0T T BT 40% TR0 07, 20% 9= W, 10% A= 0T &= Fid]
T TIT BT 51 FE A & A0y T o Wi AT g w

Options:
1. % 30%

2. % 42 85%
3% 45
4. % 20%

Question Number : 35 Question Id : 3354725765 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

10 years ago, Chris was 3 times as old as Alec. Chris would be 2 times of Alec’s age 10 years from now. What
is the current ratio of Chris’s age to that of Alec? | 10 o9 g 1o Ue® & 3 1T 927 2 T andt & 10 & wana Ui
T ST BT 2 AT 5 T 3T 371 67 Uetar 31 SIS o |10 o /T ST 70T 27

Options:

1. %72

2 ¥ 73

3 %503

4. % None of these | 778 ¥ &g 91

Question Number : 36 Question Id : 3354725766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The smallest nurmber of 4 dlgltS which wher divide 12 and 20 leaves 4 rempinder & in each case is; ,|I
4 S T o) e e T A b 5 12 1 20 8 TN BT . T O o 41 5 e ORI S

Options:

1. % 1285

2. % 1200
2% 1085
4 % 1080

Question Number : 37 Question Id : 3354725767 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the supplermentary angle of x is 6 tirnes its cormplermnentary angle, then x is___ | T1q x @ GUF ®I0 IHE [
T HT 6 TATE, aTx = 2l
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Options:
1 % 180°

Question Number : 38 Question Id : 3354725768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the decimal representation of 23[37, what 15 the =017th digit after the decimal point? [ 2237 & TAHAT
TIEw H, TAAe Teleg o weaTd 201 7ET S 74T g

Options:
1.%1
2. w2
3. VB
4 % 9

Question Number : 39 Question Id : 3354725769 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
which cne of the following numbers is divisible by 997 | FgmET # & 9 o "@&gr 99 4 Tvea 27

Options:

1. % 3572404
2. % 135792
2% 913464
4. ¥ 114345

Question Number : 40 Question Id : 3354725770 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The downstrearm speed is 7.2 konfh and the upstream speed is 4.8 km/fh. It takes a total of 20 hrs to gotoa
place and cormne back. What is the distance (one way) travelled? | TET & WalTg & @RI M 7.2 TorT T § T2T T &
Ty & T T ® i 4.8 Tordti ot 81 Tt o ae ST q e e H e 20 O 8 G5 T 6 S AT (0 a0 )
T G T 7

Options:

1. % g0 km [ 60 T

2 % 120 km | 120 fFdr

3. ¥ 57 6km | 57.6 Tod

4. % MNone of the above | g8 & ®1E 751

Gereral Hindi
Section Id : 335472150
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Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472150
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354725771 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

T ST o SR Tl i T UaT T 8, 3% #5d & -
Options:

1. % 197

= o s

3. % T

4. % sy

Question Number : 42 Question Id : 3354725772 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Temey AT W Teeat o A=At FET AT 57
Options:

1. v wegg

2. ® gTem

3. % ST

4. % 3§

Question Number : 43 Question Id : 3354725773 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tor eaforat & agmor # s arg o et v F q@ A Mo T8, S9 FEd B -

Options:
1. % zag
2. ¥ T
3 ® gof
4. ® g

Question Number : 44 Question Id : 3354725774 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘FET e, H T TR T g B -

Options:
1.9 'y ot
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2. % gy
3. % o daret
4. % guf Heyeft

Question Number : 45 Question Id : 3354725775 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Torey aleg H U=IH 214% T T AR 5 -
Options:

1. % Hugy

2 & T

3 & T

4 ® Zzv

Question Number : 46 Question Id : 3354725776 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“FHA T G aE ! 9§ @ a7 ar

Options:

1. % geamit
o ¥ W
3. % gz
4. % gmw

Question Number : 47 Question Id : 3354725777 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

T Ea e T v T e T A e A
Options:

1. % gaar

2 % fogam

2 ® fa

4 T

Question Number : 48 Question Id : 3354725778 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘s T Er Redg PEd @ dar
Options:

1. & mgT +ier

2. ® 7y +iperd

3. % mET e

4 ® ¥y +iegaf

Question Number : 49 Question Id : 3354725779 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘A T TR eg T A A R AR

Options:
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1. % amm

2. ¥ ge

=% BT

4 ® gt

Question Number : 50 Question Id : 3354725780 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“TRIFE & TAm g Fe A g e ars?

Options:

1. % i

o ¥ aread

3. ® gEE

4. % TR

Question Number : 51 Question Id : 3354725781 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A Wed g § 7 e, Mg H #1987

Options:

1. % g
2. % geETe
3. ¥ |
4. ¥ g

Question Number : 52 Question Id : 3354725782 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FTrel T ap T Gerad @1 af P d g e arg?

Options:

1. % arggd 14

2, % T T AR T Ieel a5l
3. ¢ uidgd @ T

4. % T AT

Question Number : 53 Question Id : 3354725783 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
T T GeTad @ e FE A g we Ay

Options:

1. % eqrg 2T

> B gy aaar
3. % e HaET

4 % T gaAT

Question Number : 54 Question Id : 3354725784 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘T E g e M A R ATy
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Options:
1.v a9
= %
RG]
4. % g

Question Number : 55 Question Id : 3354725785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
el T 9T T2, ITa qord gl
T U Py S e AT e a2y

Options:

1. % g

= o ik
3 % g

4. % dedHed T

Question Number : 56 Question Id : 3354725786 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T Teetm e g - st
Options:

1. % g

2. ¢ aEEY

3. % ammge

4 ® e

Question Number : 57 Question Id : 3354725787 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
“TRRUTNT STeg @1 Hal foig i+ -

Options:

1. % o g AT a7

2 % g gl Uit g feeT
3 % @Rl i g Al

4. T g o # foed

Question Number : 58 Question Id : 3354725788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
=W Ewent # & e Hwen @ =HigT 1 -

Options:

1. % ggdk
o % AR
3 % i
4 ¥ FHEAR
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Question Number : 59 Question Id : 3354725789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT T e e E RE ATt W § -

Options:

1. % 9

2 ® fourmg

3 ¥ ST A
4 % AT

Question Number : 60 Question Id : 3354725790 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T ® T o & w1 |1 are g7
Options:
1. % o7 i
o ® ghyar
3. ® Erd g
4 T A
Fural Economy and Fanchayati Eaj
Section Id : 335472151
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472151
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354725791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which armong t?le following is NOT a function of Gram Panchayat? | FRicEd § & w7 U0 T=ad &1 &1 J51 57
Options:

1. ¥ Prevention of contagious diseases | @@HTHE T ST THITH

2. % Lighting of village streets [ T &1 G2 &1 T2=T

3. ¥ Provision for emergency relief in cases of fire, flood, drought, etc. | 21T, =T, T@T Tie & ATHAT § 0T Tgd
o o e

4 % Maintenance of cormmunity water bodies | AT 6 AT &7 e

Question Number : 62 Question Id : 3354725792 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

which is the first ever 150 certified Grarm Panchayat in Madhya Pradesh? | e ugar § Uget [SO THTUE TTH G=a
FIT | 57

Options:

1. % Kodariva | ®ifm
2. % Devli | 36T

3 ® Jait | AT

4. % Nipaniva | Fof=m

Question Number : 63 Question Id : 3354725793 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
'Project Akanksha' is intended for tribal students to ______ ORI ST W Jaad afearet st oy ______ 2l

Options:

1. ¢ E-learning to prepare for Joint Entrance Exarminations | S Weia LT & 60 44w @ & o 2-am
2 % Avail books and instrurnents | gEadr ST JUET HTH AT

2 ® Avail education free of cost | 7 e & o @1

4. % Get admissions in hostels in cities | a5 # Framemat § mear oET

Question Number : 64 Question Id : 3354725794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which among the following states is the largest producer of milk in the country as in 20167 | @ 2016 & TR
W&Hﬁﬁﬁﬁ%@ﬁﬁﬁﬂﬁ?ﬂﬂ_ﬂ T T Hed A1 JeUISF 57

Options:

1. ¥ West Bengal | TFEIA e
2. % Rajasthan | T=EaH

% % Eihar | gw

4 % Uttar Pradesh | 39¢ W&

Question Number : 65 Question Id : 3354725795 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
which of the following is a central Technical Support agency for implementation of Deen Daval Upadhvyaya

Grameen Kaushalya Yojana? | 9 AT JUTEIT TTH F1AAT TR & FTdi-aae & o0 FoiaEd § § #9199 0
TR WETIaT a7

Options:

1. ¥ Ministry of Rural Development, Govt. of India | TTHT T A=, IRT a@m

2. ® Respective Zila Panchavat | H&rEd MaT =T

3. ¥ National Institute of Rural Developrrent & Panchayati Raj | F39d sEeieg ATk & Sdadde U T [ T

4 % Institute of Rural Management | Seciale 3% & A0He

Question Number : 66 Question Id : 3354725796 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Periodic elections to the local bodies are made rmandatory by |

[EE RIS
Options:
1. % 7ond Amendment | 7297 a4
2. ¥ 73rd Amendment | 73T AT
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I, % 36th Amendment | SEAT Ty
4 % 37th Amendment | S7AT GartyaT

Question Number : 67 Question Id : 3354725797 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In India, the cultivated area under certified organic farming has growr from 42,000 ha in 20023-04 to

________ inzsglnlé—%]lcl.jwﬂimrrﬁ?rﬁﬁfﬁﬁa"r TS W R W Ay 2003-04 & 42,000 FRAC § dgat 2013-14 7
________ GED

Options:

1. ¥ 373 1akh ha | 3.73 @M §%e oW
2. % £ 44lakh ha | 5 .44 ATT §Feaw
3. ¥ 723lakh ha | 7.23 @M % a0
4 % 10.21lakh ha { 10.21 ¥/ gHdaT

Question Number : 68 Question Id : 3354725798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

'Neeranchal'isa _______ ) EREE T Bl

Options:

1. % Rainfed Area Development Authority | ¥hE AT SaA0HT 2RITer
2. % Fertilizer Subsidy Scheme | B AT Tleda! THIA

3. % Micro Irrigation Systern | HTE®! SOTIH #en

4. ¥ MNational Watershed Management Project | SeHd dietds A o=

Question Number : 69 Question Id : 3354725799 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Protection of Plant Varieties and Farmers Rights Act was enacted in _______ | uTey fereRt o FET STEeT
e ST H arfereraia T T am

Options:

1. % 1951

2. % 1971
3. % 1991
4. ¥ 2001

Question Number : 70 Question Id : 3354725800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Central Gaushala Developinent Board was established in [ndia in

o T R T am

| amed | Fs e T Hen il

Options:

1. % 1947
2 ¥ 19439
3. % 19539
4 % 13981

Question Number : 71 Question Id : 3354725801 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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What does the abbreviation PESA stand for? | @180 &7 TETET Ereew nd i@ 57
Options:

1. ® Poverty Elimination for Schedule Area | UTgel UimTH-aH B¢ T9Sgm Tieam
2. ¥ Panchayat Extension to Schedule Area | Tamad Taadad ¢ Tdegq uicn
Z. % Panchayat Extension Scheme Agency | T=Tad Qaaea A T=eT

4. % Provisional Extension to Schedule Area | WidRHe TaaeaH ¢ [ giear

Question Number : 72 Question Id : 3354725802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which are the constitutional amendments that enabled the constitution of PRIS? | USRS & doue- & ol w19 9

HereTT=Ter HarrerT aITEga oy M &7

Options:

1. % 73rd &74th | 7347 & 74ar
2. % glst &62nd | 61a7 W 62T
% % Fist &72nd | 71T A 72T
4. % §5th & 65th | 657 X 6941

Question Number : 73 Question Id : 3354725803 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Cornrmon Carp, Silver Carp & Grass Carp are varietiesof ________ cormmonly found in Madhvya Pradesh ? | ®TA9
T, Tway 10 &Y U #1, Aeane T A wefed o WFE 57

Options:

1. ¢ Fish | AFw!

= % Rice | Tae
3. ® Cranges | §@aeT
4 ® pulses | Z1A

Question Number : 74 Question Id : 3354725804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the objective of ISOPAM scheme? | [SOPAM THH & J559 T4 &7

Options:
1. ¥ Increase production of oilseeds & maize | TAgAT T U T To02 @57

2. % Providing mid day meals at schools | THemaat § Aedrg - AT FE]
3. % Providing free health care to rural people | TTHIT AT & 7 5w TETEUE G I BT

4. ¥ Increase production of poultry | Fge FT FeUTE g

Question Number : 75 Question Id : 3354725805 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
National Fishe%i]es Development Board is located in _______ .| I TR Saaude &1 @R A Taw e 918)

Options:
1. % Hyderabad | 5e@E

2. % Goa | TET
z ® Mumbai [ g8
4. % Chennai | @9
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Question Number : 76 Question Id : 3354725806 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which village of Madhya Pradesh, the first ever mega food park has been set up in 20187 | F2g W29 & o
M H, 2016 H Ugel BT G2 U 1 CIRT i T8 7

Options:

1. ¥ Badgacn | =19
2. % Kosarmnba | Famgar
3. % Chicholi | FREIHT

4 % Panwa | Ul

Question Number : 77 Question Id : 3354725807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the objective of Rashtriya Gokul Mission? | T8 Mg THI 7 I8 F7 57

Options:
1. % Develop foreign breeds of cattle in a scientific manner | A&t &1 TR 7w 39 o & BT @
2. % Sell milk under ‘Gokul’ brand narme all over the country | G¢ S H F2 @1 Tiger 7S TTH & e=1

=, ¢ Develop indigenous cattle breeds in a focused and scientific manner | AT &7 T4t TEAT T Fimag qoT
dATE E FAAT

4 % Develop the municipality of Gokul in Uttar Pradesh | 39a% Weal § e ATRUTerwT T T F

Question Number : 78 Question Id : 3354725808 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Champion Employer’ under Deen Dayal Upadhyaya - Grameen Kaushalya Yojana 15 an orgarmzation findustry
who ________ .| S ST SUTET O 95 oA URATET — TTATT S80e2T T Udr 9 | Sei g =r

Options:
1. ® Can ernploy trained sports persons | ST e Eaia! @i i & T g

2. % Has the capacity to start fresh industries for giving employment | TR TE @ & 60 70 JETT ST0T F
H AT EAT

= ¢ Has the capacity to give placermnent to 5000 trained people in 2 years [ 2 991 § S000 WiSTET &0 F7 T
& T AT TET

4. % Can get placement in government services | W@ darel H towHe & @@aT 8

Question Number : 79 Question Id : 3354725809 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The prian%e objective of Deen Dayal Upadhyay Gram Jyoti Yojana is
T

Options:

1. ¥ Providing electricity to urban areas | =M &3 B =6 TS BT

2. % Supplying LED bulbs to rural places | WHT 831 § UAZET dwel BT HTId &7
3. % Starting candle industries in villages | et # ST ST F FAT

4+ Ensuring continuous power supply to rural India | T a7 & gy el o g s

.| T STE JUTEHT TTH S4iid DT @1

Question Number : 80 Question Id : 3354725810 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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who selects the Social Audit Cormrmittes under MMNEEGA? | BRI o SATT 598 O ® 19 G STles SR & 9T ®daT
7

Options:

1. % Gram Sabha | T 47

= % District Collector | FwTeTar

3. # Janpad Panchayat | 990 U==d

4. % Zila Panchavat | FaT /=T

Cormnputer Knowledge

Section Id : 335472152

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472152
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354725811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The full form of URL is: | URL #T Qi &0 &

Options:

1. ® Universal Resource LOCAtOr | e e didet

2 ¥ Uniform Resource Locator | IHwH T sl

3. % Universal Response Location | Jieadd (qui-e At

4 % Universal Response Link | e (quId ol

Question Number : 82 Question Id : 3354725812 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

_________ application is used for presentation. | ___________ TTlara T U W e o Toy T =ma g)
Options:

1. % MS Word | THUE. T2

2 % M5 Access | THUE UFad

3. % MS Excel | THUH THde

4 % M5 PowerPoint | TH TH. Qlai0Ee

Question Number : 83 Question Id : 3354725813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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which of the following satisfies the standard policy for strong passwords? | FRAWET # § 219 995 UEa2 &
Options:
1. ¥ inG3nlus
2. % Ingenics
3. ® E4736us

4. % InG enius
Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 84 Question Id : 3354725814 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT an Operating Systern? | F8 # & @19 T2 33 751 27

Options:

1. ¥ Microsoft Windows | AE®ETE Her
2 ¥ Google Chrorme | TITd ®1F

2 % Mac OS | # agE

4, % Android OS | USTHE 0q

Question Number : 85 Question Id : 3354725815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which shortcut key is used to copy the selected cells in MS Excel? | UH.UE. U H, Geide Bl TS e @l FI01 FCA o
ToIT ToreT aiTdepe it ol RIMT B 1T 27

Options:

1. % Ctrl + A
2 % Ctrl+ B
3.9 Ctrl + C

4 % Ctrl+ D

Question Number : 86 Question Id : 3354725816 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which shortcut key is used to find a particular word in a Word docurnent? | @2 gedtas # ford! e seg &1 |-
o Tty Ty iTdere it a1 TRITT 21T 27

Options:

1. % CTEL + 5
= % CTEL +F
3. % CTRL+R
4 % CTRL + ¥

Question Number : 87 Question Id : 3354725817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the use of Carbon copy (CC)7? | FTa- BT (FIET) HT FT SUAN Z1aT1 57

Options:

1. ¥ Recipients are invisible to all of the other recipients of the message in CC | |G H T3 T 0THFTT 3177 THT
WA T o Tl S gl )

2. ¥ Recipients are visible to all of the other recipients of the message in CC | T H T8 T WHEFAT 72 THT
WA T o T o 51T 8l
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3 % Recigﬁ[nts are invisible to only one recipients of the message in CC | ST H T8 7 WTHEA] Hdel T ATHETT o
oy argeT graT 8l
4 % None of the above | IWRIFT § & F1E 751

Question Number : 88 Question Id : 3354725818 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Internetisa _________ I EeTUE ___ B
Options:

1. ® Local Area Network (LAN) | I 87 AT (o)
2. % Mobile Area Network (MAN) | =6 55 JT&EH (B9)

3. % Storage Area Network (SAN) | T2 8F ATARA (G

4, ¥ Wide Area Networlk (WAN) | T9eqa &7 AT0FH (29)

Question Number : 89 Question Id : 3354725819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

On which one of the following output devices is hard copy often displayed? [ g & Tore srmaene T2emge v wrr
T2 I i g 87

Options:

1. % Monitor | AT

2 % Scanner | G¥T

= ¥ Printer | ex

4. % Key Eoard | #l-9=

Question Number : 90 Question Id : 3354725820 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following alignment i applied to the belowtext? / B+ ¢FFe & i @

TATSAHE oE [l 2HT &2

[Type a quote from the document or the summary
of an interesting point. You can position the text

box amywhere in the document. Use the Text Box
Tools tab to change the formatting of the pull
quote text box.]

Options:

1. ® Right | i<
2. % Left | oo
3. ¥ Center | "ex

4 % Justified | FEEEE

Question Number : 91 Question Id : 3354725821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which type of charts can Excel produce? | UFHH e THR & =18 W1 & 9@dT 57

Options:
1. # Line graphs and pie charts only | #dd @A1g- TTF & O @18
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2. % Line graphs only | @ad @TE9 TTH
=. % EBar charts, line graphs and pie charts | @ =12, @ATe TTF 37T 07 =18
4. % Ear charts and line graphs only | #ad &€ =@ 3T @189 TE

Question Number : 92 Question Id : 3354725822 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
which shortcut key is used to print a Word docurnent? | 92 SpHe = iz 371 & Ty o aidae gl ST i g7 27

Options:

1. % Ctrl+FP

2. % Ctrl+EB

3. % Ctri+a

4. % Ctrl+shift+P

Question Number : 93 Question Id : 3354725823 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is included in an E-mail address? | 3-0d Uggd § FaT AFATHT &1 a7 27

Options:

1. ¥ Dormain name followed by user's name | S I & &7 I FT A0
2. ¥ User's name followed by dormain name | JoR & 19 & =915 2 10 F7 T1
3. % User's narme followed by postal address | J=7 & A0 & &g Ted Jad

4 % User's name followed by street address | I% & I & 912 F51¢ T2

Question Number : 94 Question Id : 3354725824 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Storage device that uses lasers and lights as its technolo Vi of reading and writing information is krown as: |
TG mﬁwmmmﬁwm aﬁ?ﬁ?ﬁé%ﬁqm——ﬁaﬂr—ﬁfﬁ%m FLAT S, FEAE T 8

Options:

1. % Magnetic storage | BTHR®E g
2 Optical storage | ST &8 0T
3 % Cloud storage | FAlEE G20

4 % Paper storage | YO FE T

Question Number : 95 Question Id : 3354725825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The three main cormponents of a cormputer are: | THYIET & o 4 §EGT G9d & -

Options:

1. % CPU, Memory, Tape | ®LdTg, #ART, 20

2 % Tape, Memory, Floppy disk | @0, BERT, FaAMT E9%
% ® 1O, Printer, Mouse | &g, | &, et Arad

4 & CPU, 1O, Memory | @013, Mg j it #aeT

Question Number : 96 Question Id : 3354725826 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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_______ O%_ji?r; determines the distance of the paragraph from either the left or the right margin. | TerereT
_______ , o ETT ST S TR & g i w3

Options:

1. % Mail merge | 77 7=

2 ¥ Indent | 5%

Z. % shading | @527

4, % Right Alignment | ¥T5¢ TATEAHT

Question Number : 97 Question Id : 3354725827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SMTP stands for: [ SMTP @#Tae0d &

Options:

1. % Switch mode Transfer Programming | 6= HIE 6w HITHT
2. % Switch mode Transfer Protocol | o AIE 6 AR @10

=, ¢ Simple Mail Transfer Protocol | 06 A ST T @A

4. % simple Main Transfer Protocol | U 79 26T i@t

Question Number : 98 Question Id : 3354725828 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which of the following tab is the illustrations group available in M5 Excel 20077 | TAUE UFA 2007 H gedgad
Ty fafoteT & & e 2o | Sueae g &7

Options:

1. ¥ Insert | 546

2. % Page Layout | U &eae
3. % Data | 207

4. % View | 99

Question Number : 99 Question Id : 3354725829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

__________ is NOT an operating systern. | _________ T AT [eed 51 3]
Options:

1. ¥ DO5 |24

2 % Linux | fosa

z. % Windows | e

4 & Cracle | W@

Question Number : 100 Question Id : 3354725830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What does ‘Ctrl’ + "=’ key applies in MS Word 20077 | THTE TFad § ‘Ctrl' + =" G0 %1 F47 T9d §1a7 87
Options:

1. % Font size increase | ®THE A5 a3l &

2 % Font size decrease | B 95 U2l

3. % Superscript | UIEHRTE

4. ¥ Subscript | Afetw
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